ND-180-BL

Ref.explod 91231

03-11 16/03/2015

Product. 25925, 25926, 25927, 25945

rt-list

ES

EN

DE

FR

1 3698 1 MOTOR 120V 60HZ ND-180-BL MOTOR 120V 60HZ ND-180-BL MOTOR 120V 60HZ ND-180-BL MOTOR 120V 60HZ ND-180-BL
1 3413 1 MOTOR 230V 50HZ ND-180-BL MOTOR 230V 50HZ ND-180-BL MOTOR 230V 50HZ ND-180-BL MOTOR 230V 50HZ ND-180-BL

2 3657 1 CHASIS ND-180-BL CHASSIS ND-180-BL CHASIS ND-180-BL CHASIS ND-180-BL

3 3416 1 MESA ND-180-BL TABLE ND-180-BL TISCH ND-180-BL MESA ND-180-BL

5 3417 2 POMO GUIA SUP.ND-180-BL KNOB OF TOP GUIDE.ND-180-BL FUHRUNGSGRIFF OBEN ND-180-BL POMO GUIA SUP.ND-180-BL

7 25706 1 PLATO INTERIOR ND-180 USA INNER FLANGE ND-180 USA INNER FLANGE ND-180 USA INNER FLANGE ND-180 USA

7 3411 1 PLATO INT.ND-180-BL FLANGE INT.ND-180-BL INNENPLATTE ND-180-BL PLATO INT.ND-180-BL

8 3412 1 PLATO EXT.ND-180-BL FLANGE EXT.ND-180-BL AUSSENPLATTE ND-180-BL PLATO EXT.ND-180-BL

8 25705 1 PLATO EXTERIOR ND-180 USA OUTER FLANGE ND-180 USA OUTER FLANGE ND-180 USA OUTER FLANGE ND-180 USA

10 3597 1 TAPA DISCO ND-180-BL DISK PROFILE ND-180-BL PLATTENDECKEL ND-180-BL DISK PROFILE ND-180-BL

11 24152 1 CUBETA ND-180 SMART WATER TANK ND-180 SMART TANK ND-180-E PLATEAU ND-180 SMART

12 3598 1 TOPE LATERAL ND-180-BL LATERAL STOP ND-180-BL SEITENANSCHLAG ND-180-BL LATERAL STOP ND-180-BL

13 3557 1 SABLE ND-180-BL BLADE ND-180-BL SCHWERT ND-180-BL SABLE ND-180-BL

14 25027 1 PROTECTOR DISCO ND-180-BL BLADE PROTECTOR ND-180-BL PLATTENSCHUTZ ND-180-BL PROTECTOR DISCO ND-180-BL
15 3667 1 SOPORTE SABLE ND-180-BL BLADE SUPPORT ND-180-BL SCHWERTSTUTZE ND-180-BL SOPORTE SABLE ND-180-BL

16 60039 2 TORN DIN 965 M4X8 ZN SCREW DIN 965 M4X8 ZN SCHRAUBE DIN 965 M4X8 ZN TORN DIN 965 M4X8 ZN

19 40075 1 INTERRUPTOR ND-180-BL 120V 60HZ SWITCH ND-180-BL 120V 60HZ SCHALTER 120V 60HZ SWITCH ND-180-BL 120V 60HZ

19 40073 1 INTERRUPTOR ND-180-BL 230V 60HZ SWITCH ND-180-BL 230V 60HZ SCHALTER 230V 60HZ SWITCH ND-180-BL 230V 60HZ

19 3414 1 INTERRUPTOR ND-180-BL 230V 50HZ SWITCH ND-180-BL 230V 50HZ SCHALTER 230V 50HZ SWITCH ND-180-BL 230V 50HZ

20 3660 1 SOPORTE INTERRUP.ND-180-BL SWITCH SUPPORT ND-180-BL SCHALTERSTUTZE ND-180-BL SWITCH SUPPORT ND-180-BL

23 3642 2 FIJACION TOPE LAT.ND-180-BL LATERAL TOP FIXATION ND-180-BL SEITLICHE BEFESTIGUNG OBEN ND-180-BL FIJACION TOPE LAT.ND-180-BL
24 3499 1 POMO PROTEC.DISCO ND-180-BL KNOB OF BLADE COVER. ND-180-BL SCHEIBENSCHUTZGRIFF ND-180-BL POMO PROTEC.DISCO ND-180-BL
30 40045 1 TUERCA DIN 985 M5 ZN AUTOBLOC NUT DIN 985 M5 ZN AUTOBLOC SELBSTSCHLIERENDE MUTTER DIN 985 M5 ZINK TUERCA DIN 985 M5 ZN AUTOBLOC
31 3695 1 TUERCA EJE MOTOR ND-180-BL MOTOR AXLE NUT MONT-180-BL MUTTER MOTORACHSE MONT-180-BL MOTOR AXLE NUT MONT-180-BL
41 3371 1 ACCESORIO 45° ND-180-BL 45 ACCESSORY ZUBEHOR 45° ND-180-BL 45 ACCESSORY HAPPY-E

42 45038 2 ARAND DIN 9021 A6,4 ZN WASHER DIN 9021 A6,4 ZN UNTERLEGSCHEIBE DIN 9021 A6,4 ZN ARAND DIN 9021 A6,4 ZN

43 3658 4 PIE DE GOMA ND-180-BL RUBBER FOOT ND-180-BL GUMMIFUR ND-180-BL RUBBER FOOT ND-180-BL

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso

We reserve the right to introduce any technical modification without previous notice

Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

Il est réservé le droit a introduire une modification technique sans préavis.

Pagina 1 de 2



ND-180-BL

Ref.explod 91231 03-11 16/03/2015 Product. 25925, 25926, 25927, 25945

Queda reservado el derecho de introducir cualquier modificacion técnica sin previo aviso Wir behalten uns das Recht vor, jede notwendige technische Anderung ohne
vorherige Ankiindigung an unseren Produkten vorzunehmen.

We reserve the right to introduce any technical modification without previous notice ) ) N . o ) .
Il est réservé le droit a introduire une modification technique sans préavis.

Péagina 2 de 2



